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PO NOT OPEN THIS BOOKLET UNTIL YOU ARE _ASKED TO DO SO.
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QUESTION BOOKLET
Time allotted : 1 hour 30 Minutes

Full marks : 200

All questions carry equal marks.

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

erify the page number of the

1. This booklet consists of 24 pages including this front page. V
bring it to the notice of the

Question Booklet on each page. If there is any discrepancy,
Invigilator. This Booklet contains questions in 2 languages i.e English and Bengali. In case
of any doubt/discrepancy in the translation into Bengali language, the Board would rely on

the English version.

Answers will have to be given in the special answer sheet (OMR Answer Sheet) supplied for
two pages. Do not tear or separate any leaf of the OMR

!\)

the purpose, which consists of
Answer Sheet.

3. Before you proceed to mark on the Answer Sheetin response to various items in the Question
Booklet, you have to fill in some particulars in the Answer Sheet. You must also write the
Question Booklet No. on the Attendance Sheet. Do not fold the Answer Sheet as this will

result in error in your marks. %

: 4. All questions have four probable answers (A), (B);(C) and (D). Find out which of the fout
i answers appears to you to be coriect or the best. Now darken the circle corresponding to the
letter of the selected answer in the OMR Answer Sheet with Black Ball Point Pen issued by

WBPRB as per instructions sent along with the Admit Card.

5. If more than one circle is encoded for a particular answer, it will be treated as an incorrect

ansSwer.

6. Vith of the allotted marks (i.e. 0.50) will be deducted for each incorrect answer.
7. There are blank pages at the end of this booklet for Rough Work.

8. The Special [OMR] Answer Sheet (both pages intact) should be handed over to the
Invigilator before leaving the Examination Hall. Candidates are then permitted to leave
the hall with the Question Booklet. The special answer sheet (OMR) is the property of the
Board and must be returned to the Invigilator.

[Please Turn Over)
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1. Which of the following words will appear
fourth in the dictionary ?
(A) Sanatorium
(B) Sanction
(9 Sanskrit
(D) Sanctity

‘ 2. Gopal said, pointing to Govind ‘His father
is my father’s only son’. How is Gopal related to
Govind ?

(A) Grandson

(B) Son

jZ{ Father

(D) Grandfather

3. Molly travelled from point A to point B
which is 5 feet. He then travelled 6 feet to his right
and then turned to left and went 4 feet. Finally, he
again went 6 feet to his left. How faI is he from the

point B now ? LT {
(A) 6 feet 6
m 4 feet »
(©) ik 5
(D) 10 feet

4. Vinod introduces Vishal as the son of the
only brother of his father's wife. How is Vinod
related to Vishal ?

(A) Son

(B) Brother

Q/Cousin
(

ncle

5. Sitais older to Swapna. Lavanya is older to
Swapna but younger than Sita. Varna is younger
than both Hari and Swapna. Swapna is older to
Hari. Who is the youngest ?

) Varna
(B) Hari 2)
©) L?vanya %
(D) Sita -
v
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1. e sl s @b ofeurs sgd
Bt ewiR® 20 ?
(A) Sanatorium
(B) Sanction
(C) Sanskrit
(D) Sanctity
2. cottette (otffames rfde 9@t “@q Al 2
1 A G A | (oM AR ot
ool 7
(A) «IfS
(B) (=l
(C) art
(D) SfFaml
3. 3 A 2/ (A AT B (S (5w 14 199
535 | oied o o iRt 6 T (I G<K

oIl A AT Y0 4 0 (910 | ST fof =rae
1 i 6 %5 (o1t | fof @9 B AT (A F9 1A

102 ?

(A) 630

(B) 4%0

(C) 53D

(D) 10F5

4. Ram o o W g9 SREF 4

o fmirecs #ifava sf@ @@ | Rem-ag A
fifteTs (< A2

(A) =«

* (B) ©R

(C) YoRCe! SR

(D) Il

5. F2E (6 Aol WA I8 | FRT FARN G
7 A6 e Mo o@ @61 3, 2[ 93 7=
mmmﬁ,wmqﬁgmw|m@3@w.

A) 3
(B) 2
(C) #A=ED
(D) Aol
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6. If MEKLFis coded as 91782 and LLLJK as
88867, then how can IGHED be coded ?

(A) 64521
%ﬁ?mm
C) 75632
(D) 97854

7. Select the missing number from the given

responses: II

@)(512

(B) 1000
(©) 729
(D) 343

8. What should come in the place of question
mark (?) in the following number series ?

2, 10, 30, 7, 130, 222

(A) 95 X a0

B) 42 g M
(C) 68 1

(D) 125

9. How many such ‘R’s are there in the
following letter series which are immediately
preceded by ‘M’ and immediately followed by
<Y

NPKRMDCNMRKPQKRNMR
KRMKPRM

(A) Four

(B) Five

(6)/ Two

(D) Three

10. If 84 x 13 = 8 and 37 x 13 = 6 then
56 x22=
K) 7
B) 9
© 8

(D) 6

(4)

6. Tfi MEKLF (@@ 2% 91782 @3} LLLIK
@G 31 88867, 20 IGHED (316 & 2732

(A) 64521
(B) 53410
(C) 75632
(D) 97854

7. s afefrae s SeiEe T7af v

dran
el

(A) 512
(B) 1000
(C) 729
(D) 343

8. fnfeie wwe e 2% oz (2)-9a @R
J @
'2, 10, 30, ?, 130, 222
(A) 95
(B) 42
(C) 68
(D) 125

9, sk EHr Fiffts = Feel R’
itz TF, (56 iesl ‘M Gk % 7 ‘K’ SR ?
NPKRMDCNMRKPQKRNMR
KRMKPRM
(A) B
(B) 15
(©) ®
(D) fo5

10. 3 84 x 13 = 8 W3R 37 x 13 = 6, ©WX
56 x 22 =

(A) 7
(B) 9
©) 8
D) 6



11. Which one of the following units is not a
unit of electrical measurement ?

(A) Coulomb
(éﬁr Siemen
(C) Ohm

(D) Angstrom

The headquarters of the International Labour
Orgénization is at

(A) New York
(B) Washington D.C.
Maris

(D) Geneva

13. Where is the Indian Forest Research Institute
located ?

EK{ Dehradun
(B) Shimla
(C) Lucknow
(D) Bhopal

@ Cow milk is a rich source of
(A) Vitamin-B

(B) Vitamin-D
(C) Vitamin-C
(D) Vitamin-A

@ The name Kunjarani Devi is associated
wi

(g)/ Boxing

(B Weight Lifting
(C) Swimming

(D) Archery
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11, Frfafae qameras @ efbe At
G W7
(A) 7714
(B) Prear
(C) @zl
(D) w1

12. o =A@ T9E TREE TAZT
(A) Fieza#
(B) ‘et fe. .
() iz
(D) (@t

13, SRS T A (P (I AL ?
(A) Crmge
(B) Tt
(C) AT
(D) CefE

14. 17 v4 Fe @im febife 7= 2
(A) febihm-f2 '
(B) febifm-T&
(C) feoifam-fA
(D) febifim-a

15. P @ T wfee —
(A) afae
(B) S g
(C) et
(D) ShE=G!




RBSI(P)/19 (6)

16. The Income Tax in India is 16. SIS AP 2
(A) Indirect and Progressive (A) GIHF @R glaifeiat
(B) Indirect and Proportional (B) GG g% ol AIfes
(C) Direct and Progressive (C) & gk gl
(9/Direct and Proportional (D) 29 @ wﬂoﬁﬁﬁ

17. India’s coastline measures 17. SRACSA GAFAIAE o za
(A) 5516.6 Kms (A) 5516.6 fGEIfRGE
(B) 3316.6 Kms (B) 3316.6 RAlfoH
(C) 4516.6 Kms (C) 4516.6 Receifna
(p)/7516-6 Kms (D) 7516.6 FeEAfRGH

18. Which one of the following is an example 18. e @G FR@ET e FGEAA

of nitrogen fixing bacteria? Triaad ?
(A) Eukaryotic (A) seifaEte
(B) Rhizobium (B) el
(C) Procaryotic (©) ErmifEaibe
(Motobacter (D) SCEIGIRIER
19. The pigment that helps in photosynthesis 19. fEe @ F910 AETFRET aifeEmn Y
(A) Chromatophore I
(B) Leucoplasts (A) GBI
(C) Chromatoplasts (B) fereriaiis
Dy Chloroplasts (C) GBI
| (D) @IIARS
@m World’s driest desert is 20. +fa7 wwoy wFY 2=
(A) Gobi (A) o
(B) Thar : (B) ¥
(Q)/ Sahara
(D) Atacama (Cla

(D) SR



21. What does one study in Palacontology?
Plant and Animal fossils
(B) Volcanoes
(C) Rocks
(D) Atmosphere

22. Newton's first law of motion is also known
as

(A) constancy principle
(B) prnciple of relativity
(&) principle of inertia
(D) causality principle

23. The Jallianwala Bagh Massacre took place
on
(A) 28th July, 1914
(B) 24th July, 1935
13th April, 1919
(D) 16th October, 1905

@’residem of India is elected by
(A tya Sabha
) Members of Parliament and members

of State Legislative Assemblies
(C) Parliament Members
() Lok Sabha

25. What was the real name of Birbal ?
) Mahesh Das
(B) Shyam Das
(C) Ram Das
(D) Bhagwan Das

(7)
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21, shifAersmEe e @ REms S
(A) ©fer @ae 2!t G
(B) wearfafa
(€) Mt
(D) arpe=

22, EoETa dew el Affos zam=
(A) oz S
(B) Sitoifieela JEaie
(C) TGO YIS
(D) Fifaet TS

23, GIREASTERIE TIPS oz —
(A) 28th July, 1914 j
(B) 24th July, 1935
(C) 13th April, 1919
(D) 16th October, 1905

24. Siared AgAe Five 25—
(A) TRl A=A
(B) T Y R AT A AR
APy _Il

(C) FALTMA Wy QI
(D) TSl /I

25. AT e A N fewe
(A) e wei
(B) I w3
(C) A wH
(D) oI W
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26. Diamond is hard because
(A) it is made up of carbon atoms.

}B)/all the four valence electrons are

bonded to each carbon atom by

covalent bonds.
(C) itis a giant molecule.
(D) it cannot be burnt.

27. The maximum duration of ‘Zero-Hour’ in
the Lok Sabha is

(
(B) Indefinite period
(C) 2 hours

(D) 30 minutes

60 minutes

28. India gets the largest share of its G.D.P.
from which of the following sectors ?

(A) Construction sector
(B) Service sector

(C) Manufacturing sector
(D) Agriculture sector

29. The Law of Natural Selection is associated
with
(?()/Darwin
(B) Mendel
(C) J.B. S. Halden
(D) Dalton

30. Which of the following is needed by a
person suffering from diabetes ?

(A) Penicillin
(B) Streptomycin
(C) Steroids

(

Insulin

(8)

26. 231 *@ 26T I
(A) fb S 21 A SNFS |
(B) 7579 51215 1T B (IS IS
it 2ifef Fda Az AN O |
() «ft g=fb t7ey o9 |
(D) «fb coreItt T =l |

27, @ A ea A A A A
£
(A) 60 fifas
(B) Siffaaaia
(C) 29!
(D) 30 fafo

28, EfRe RewE @ (A SFS O
& fo ot a3 Fdifas oIt a1re A 2

(A) fasfi=a
(B) GRCFA
(C) AR

(D) gfTwa

29. mrwﬁzfmwﬁammm%@—
(A) TEORA
(B) VT
(€) @. R @ JTes
(D) TlEios

30, fEFiRe @t SRRt Wes IE
ATAIG ?

(A) e
(B) CRATMIRMW
(C) FHITT

(D) ZPifew




31. The chief constituent of ‘Gobar’ gas is
(A) Carbon dioxide
(B)/Methane
(C) Hydrogen
(D) Ethane

@. The book “Letters from a Father to
Daughter” was written by

(A) Mahatma Gandhi
(B) B. V. Patel

(©) S. Radhakrishnan
(D) Jawaharlal Nehru

@kﬁica is separated from Europe by
(A) Mediterranean Sea
(B) Red Sea

(C) Persian Gulf
(D) Atlantic Ocean

34. Which country has won the 2018 FIFA
World Cup held in Russia?

(A) Croatia
(B) Germany
(Cy France
(D) Brazil

35. Which of the following is India’s largest
Public Sector Commercial Bank at present?

(A) IDBI Bank

(B) State Bank of India
(C) Indian Bank

(DY ICICI Bank

(9) RBSI(P)/19

31, ‘AR SO el Some 2
(A) I CRREART
(B) firras
(C) 2IErgiem
(D) A

32. “Letters from a Father to Daughter” 725
fercaferer
(A) T2l S
B) . fe. A

(C) <P, AU
(D) QTN T2

33, wifere! TECAN (ACF A2 TR T TG
(A) PR
(B) Gifes A
(C) i TR
(D) NG5 SR

34, TS SRS 2018 e et CPi ¢
ez ? :

(A) G

(B) wisfite

(C) T

(D) Af&s

35. Apa @D TR SRS RS AR
o133 alfdfers e

(A) i3, f. . =R, i

(B) SIS (00 JRF

(©) A T

(D) =i B, =iz, B, =R, e
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36. Fatheris four times the age of his daughter.
If after 5 years, he would be three times of daughter’s
age, then further after 5 years, how many times he

would be of his daughter’s age?
(A) 2 times

(10)

y\e
s \(

(B) 3 times
(MS times
(D) 1.5 times

37. A two-digit number is such that the product
of the digits is 8. When 18 is added to the number,
then the digits are reversed. The number is

24
(B) 81
©) 32
(D) 18

38. Find the value of 0.002x0.5=2?

(A) 0.001
(B) 0.1

(©) 0.01
0.0001

\”®

39. The respective ratio between 52% of X and
30% of Y is 12 : 5. If X is 50 more than Y, what

is the value of 2X+ Y’ ?

(A) 260
(B) 490
(C) 390
(D) 230

40. Amitis 6 yrs. older than his wife Soma. The
present age of their son, Bunny is 1/3rd of Soma’s
present age. If the sum of present age of Amit and
Bunny is 54 yrs., what was Soma’s age, when

Bunny was born ?
(A)
(B) 36
(C) 32
(D) 24

oy )c/ﬂ/°

3

% o/
M /7(\
0

\

\6'07\0
&7

(/K
XQO i ¢

L
¢4

%

&\/V‘
o 0
S

-
/.7

o w7

WS
&
.

36, A7 I G BIAs | A 5 e A0A O
a0 A AT e @71, S e 5 %9 4,
Rofil of7 (I e P984 2

(A) 2%
(B) 3 @4
(C) 2.5 %4
(D) 1.5 %4

37, G 42, HAAD A THAAA %4777 8|
qum Fkaia oK 18 carel w Al 2, T A4
A B ARasa 7 | A FO7

(A) 24
(B) 81
(©) 32
(D) 18

38, Wi faefa T2
0.002x0.5="7

(A) 0.001
(B) 0.1
(©) 0.01
(D) 0.0001

39, X7 52% G Y49 30% A FGAe 1225 |
2 X2 T Y3 G 50 3 =, O 22X + Y
g e PO AA?

(A) 260
(B) 490
(C) 390
(D) 230

40. S O A EINEK G 6 III G | ST
G (R0E AR T G IS I 1/35H |
7ff wifi® Y3 A" IS WETA TG 54 27 L,
O(@ A G AN G I3 P f2a 2

(A) 28
(B) 36
(€) 32
(D) 24

o
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41. The sum of 3 numbers is 136. If the ratios
between first and second be 2:3 and that between
second and third is 5:3,then the second thber is

(A) 4
60 4y (S< i
(©) 52 < €\

(D) 40

42. 15 men take 21 days of 8 hrs. each to do a
piece of work. How many days of 6 hrs.each would
21 women take, if 3 women do as much work as

2 men ?
(A) 2 & YW K& = K
@) 30 ;

3 gty
©) 25 ¥
D) 18 M‘/
(v
43. How many seconds a train 100 meters in

length running at the rate of 36 km/hr will take to
pass a certain telegraph post ?

(A) 12 seconds fo
(B) 18 seconds S =
(C) 15 seconds -
M:conds W

44. ‘A’ cancomplete apiece of workin 12 days.
‘A’ and ‘B’ together can complete the same piece
of work in 8 days. How many days can ‘B’ alone

complete the same piece of work ? o
(A) 18 days \‘\/__/:f/
(B) 28days
&i/g:ys /K’
(D) 15 days

45. The sum of two digits of atwo digit x}ugnber
is 12 and the difference between the two d1g1t§ qf
the two digit number is 6. What is the two digit

number ?

’
(A) 75 N Al
~6
03 \((
G

|~

(C) 84

(D) 60 o %\

K K Vool
\Y W
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41, foaf Tt B 1361 T 22w @ f7ow
AT SFAIS 2:3 @3 7S @ P8I ALY YA
5.3 73, ora faon 7o 2@

(A) 48

(B) 60 iy

(C) 52 Q& o8 [~
(D) 40 o

42. 895! 3 PG A 15 G #2e0aa 21 a1 A
NS G0 PG ST FACS | 6 D LA PG FAC
21 o SEAE i3 I o1 A0S FO A T
#19(Ca, T 3 Gl AZE 2 Gl 2T A Fler $A ?

(A) 20

(B) 30 4;1)/ \4 ; P
(©) 25 i
(D) 18 7/ 1 1

43. 9517 36 FeEAfoe @t 100 55 7 «=(6
G @3 GRIdE (APee T GIe Sfed ™

PJCE?

(A 12 TS 40;6} %
(B) 18 CTF® N - A F
(C) 15 T (&
(D) 10 TS W

44, A 3 S 12 Tt F0S AE | A R
B G @< B oI e et 8 e 1 3
g9t ‘B’ FISH FA0O B S O FoMA A

A
(A) 18 (RO (( %
®B) 28 4 O ;
©) 24Fm e ([
D) 15w R -

45. ¥2 SFRMS @l MUT TFEI AN 12
932 ~A14 6| R WERMS WA T2

(A) 75
(B) 93
© 84 e
(D) 60
e
410

s
G

B S —

e
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46. Five bells begin to toll together at intervals
of 9 seconds, 6 seconds, 4 seconds, 10 seconds and
8 seconds respectively. Starting together, how
many times will the bells toll together in a span of
1 hour?

(A)

e 1
(©) 10
(D) 5

%

47. Sachin Tendulkar has a cerfain 4\/erage for

11 innings. In the 12th innings he scores 120 runs

and there by increases his average by 5 runs, his
new average is

(A) 62
(B) 66 o
(C) 65 %
(D) 60 Y &

Y
48. The wheel of a motor car makes 1000

revolutions in moving 440 m. The diameter (in
meter) of the wheel is

(A) 0.34

(B) 0.14
© 024

MM

49. Find the odd one out
(A) Carl Lewis
(‘})/ﬁsain Bolt
(C) Emil Jacktopek
(D) Ben Johnson

50, 7:49::17:7
(A) 288
(B) 324
(C) 290

(/Dj 119

3

(¥

(12)

46. I 9% IWFE 9 CFe, 6 CIIFe,
4 (TG, 10 (TS 932 8 (TS G JI4IC &0S
wmnma@mm«m—mmaw

e ?

(A) 8
(B) 12
(©) 10
(D) 5

47. ﬁﬁamﬂan%ﬁmaﬁﬁ%ﬂ?
A | 12 o3 3 fofe 120 A1 Sz AR T
O 1S 5 A I (AT, O TR T PO

(A) 62
(B) 66
(C) 65
(D) 60

48. (57 o= 51! 440 m 551 1000 7= 967
2 | 5I A7 2@ (o)
(A) 034
(B) 0.14
(C) 024
(D) 0.44

49. REER® Il T o @0 2
(A) e o321
(B) TG @S
(C) «fSiet EpwIeT
(D) @9 S

50, 75495517
(A) 288
(B) 324
(€)7290 ¢ ¢/
(D) 119



(13) RESIPYIY
S1. Fand the odd one out; 81, Gty manfrs iy vra ity
) . h) o
B Landca @ on
) New Zesband ) ok
¥ -_ () ozt

52 Five girls MNOP z0d Q we standing in
ww.Peoaterightof Q Nisonthelefiof Q, b
somGernguo M. Pisonthe left f O, Who #s
szmding on the extreme tight 7

(A3

P2 s givo
P

M) N

53. ¥°A mems ‘v, D meams -, C’ means
“x zd IV mezs *< then what will be the vilse

of Sollowing expression ?
$D2A6C3BS
* 25 21 Al F3
@& & P
©17 SR G
Dy 30

54. Wiz siold oome 1 the place ok .= ion
'k (7) in toe following musdver series
9,20,33,48,7,%5,105
(A) 62
(B 62
((%
Dy 72

55. What does NATO stand for 7
(A) North American Treaty Organisation
(B) New Atluntic Treaty Organisation

(© New Treaty Organisation
(Mﬁ Treaty Organisation

2. M xz MNOP wx ) HoT
Mgz oz 9,z 04071 W,0)4% 7797
M &z gAm #yz onp | O 45 72 Pm P 202,
Y sz 2 v Ay win?

A) O
® Q
©p
o) N

B W N B, B G, C &
T A R, N T [T e g A
2 247

K | 8D2AGC3IBS

(A) 25
(&) 10
©©. 17
D) 30

54, A o v s v (1)-cza o
A
9,20,33,48,7, 84, 105
(A) 68
(B) 62
© 65
D) 72

55. %D (NATOY'S 7o 25 B
(A) North American Treaty Organisation

(B) New Atantic Treaty Organisation
© New American Treaty Organisation

(D) North Atantic Treaty Organisation

R R R R rSS———
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56. The ‘Dronacharya Award’ is given to
(A) Sports Editors
(B) Umpires

(C) Sportspersons
/U/Ciaches

~

@ The Matatila Hydel Project is on which
river ?
(A) Koyna in Maharashtra
(B) Tapti in Gujarat
(C) Mahanadi in Odisha
(D) Betwa in Uttar Pradesh,

58. What should be the student- teacher ratio at
the upper primary level in schools under the Right

to Education (RTE) Act ?
(A) 25:1
(B) 45:1
(G835
D) 15:1

59. Which of the followingisa vectorquantity?
(A Force
(B) Mass
(C) Inertia
(D) Density

60. Who was the Peshwa when the Third Battle
of Panipat was fought in 1761 7

(4() Bajirao II
(B) Madhava Rao
(C) Balaji Bajirao
(D) Bajirao I

(14)

56, ‘caleiterd oA el
(A) @It T
(B) SIrAIAAAA
(C) @i
(D) AT

57, wreffn w@fage 2AFHn g ©AA
SAFS ?
(A) RACEA T A
(B) weANGa e A
(C) efira =
D) wmmﬁ

58. Wﬁm(wmﬁ@wﬁﬂwmﬁw
mmﬂﬁasmﬁmﬁ—ﬁwwﬁr@%r@em@fﬁ@?
(A) 25:1
(B) 45:1
(©) 35:1
D) 15:1

59, G IR (39 A2
(A) =
(B) ©3
(C) wwel
(D) @9

60. 17617TR 2AfA2TT PO JCad ST CATI
@ feme

(A) &S aiferane

(B) W38

(C) e Aiferane

(D) &% ferne
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61. Jaldapara Sanctuary ig Jocated ¢
(A)/Mndhyn Pradesh i
B West Bengal
(C) Tamilnadu
(D) Assam

62. Exposuretosunligh
thelps i
Mowlesisnr 1 ghthelps apersonimproye
(A) resistance power increases
the ultraviolate ra .
: S cC in oi
- ey yS convert skin oil
©) th.e pigment cells in the skin get
stimulated and produce a healthy tan.

(D) the Infra-red light kills bacteria in the
body.

63. In which district of West Bengal was Raja
Rammohan Roy born?

ooghly
(B) Nadia
(C) Murshidabad
(D) Burdwan

64. Which of the following is not a member of
South Asian Association of Regional Cooperation
(SAARC)?

(A) Myanmar
Pakistan

(C) Nepal

(D) Bhutan

Six bells commence tolling together and
toli~t intervals of 2, 4, 6, 8, 10 and 12 seconds

61, Gt aeaenfs srafze—

62. mwﬂ—n@mmmmm
FACS AZITS! T, P14

(A) ety wae! 9 4|

(B) wferaef 2 g (A (oo 1662
T A |

(C) T3 767 el THS T 9K
«f5 ArZFa B (ofd FCA |

(D) ZT1-@S A =3 FB A 2

FAE|

63. “Affswara @A (EEE el AR TH
G e S ?
(A) 2l
(B)
(C) T

(D) A4

64. e @ A @diE e e Do)
A (76) 7P T2
(A) S
(B) =
(C) @&

(D) WO

65. = 951 G AR G BF I GR IAFH
2,4,6,8, 1093 12 (T A4 a1ea | 30 G

respectively. In 30 minutes, how many times do o1l &% AN FSAR AT ?
they toll together ? ¢ (O ‘r ) (A) 10
(A) 10 6 / f_—=UB)F6
(B) 16 // (C) 15
Z (D) 9
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“mmm&emda “MMGMW :
rectangle and square is 35 cm”. If the rectangle’s m,.,,mz.mmwwmma
et S0% (AP 6 10% 3

muwnmm-ﬂlmm asfrmafda a8 PAAY !
respectively than the side of the square, whatis the u,mqmﬁ!mmwr(mm
Iﬁﬁhw?mm’) (A) 105

(A) 105 B) 145

(B) 145 © 135

©) 135 D) 100

(D) 100

i et fews TAH

ﬁ.An-goaqﬁﬂdmavalgespeedof 67, @5 g o0e 24
umdmmammwof mmwﬁﬁmﬂﬁw
nm&mmmmmm m@h,@w

68 @ﬁﬂmﬁﬁmsﬁ;eﬁﬂ@%lw :1
il = 45 &%, TF

A) 25days

Wys
22 days
(D) 35 days

7’» %ﬂm"dmmmof:?»mln
the given number series?
1,8,9,64,25,7,49
(A) 40
®B)716 I
(©) 99 e
(D) 36 ‘




71. Complete the given letter series in the

(17)
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following: 71. fmfafae Pl s e
a_ab _baa_bb \:6:/ a__ab _baa_bb _
(A) aabb b SV YT (a) aab
Q’ v
(B) baba & V (B) baba
e— \o ~

;gybaa S (C) bbaa

) abab O (D) abab

72. Xis the east of Y which js 1
IfPisin the east of Z, then in whic
is P?

n the north of Z,
h directiop of X,

(A) South-West

gwest VY
) South ‘
(D) South-East A

73. Vivek and Ashok start from a fixed point.
Vivek moves 3 km north and turns right and then
covers4 km. Ashok moves 5 km west and turns right
and walks 3 km, New how far are they apart ?

() 9km Y4
(B) 6 km ECa

4 al?

(C) 8km
<

(D) 10km
74. Select the missing number from the given
responses:

7 3 2
4 9 6
2 1 5
69 | 91 ?

(A) 58

BT 65

(C) 64

(D) 51

75. In a certain code language ‘T” is writter’l as
20, “TAX’ is written as 20124 and ‘XERO is
written as 2451815. How would the word BABY

72. W X', ‘Y -qq HETRFE @, Y, ‘2’47
G W17 27, ‘P, ‘7' -a7 A oz 7, o
‘P, X’-97 @S Tz ?

(A) wfEFe-ifass
(B) #fe5

(C) wfEee

(D) wfwel-oF

73. RS 93 s @it Wfwe 7 (2ee 3t
w7 | 4033 3 Ff Term atenra 7@ vEiee 9
e 4 T S wAfesw s 5 el areaa o7
Tl T2 e 3 6 0 | 94w o Feo! A 2

(A) 9
(B) 6 &
(C) 8
(D) 10 ff

74, 24ne AT RS TS TR FE b

Jee

s 3 2

4 9 6

| 2 1 S

69 91 Y
(A) 58
(B) 65
(C) 64
(D) 51

75. o5 S @Ie S ‘T @& 20 e @
=7, ‘TAX’ (& 20124 98 ‘XERO’ 2451815 {231t
@ 27 OtE ‘BABY’ *¥i0 (I (00 @1 A2

be written in that code language ? (A) 21224
(A) 21224 R (B) et
(B) Cannot be determined o8 (C) 21220
(C) 21220 (D) 21225
4P7 21225
<XV o nh
N\ 64
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76. Choose the odd one :
(A) JKL
(B) TUV
&O PQS
(D) CDE

77. All of the following noble gases are present

in the atmosphere, except
Helium
(B) Xenon
(C) Radon

(D) Argon

k and field star Carl Lewis won how

78. Trac
at the 1984 Olympic Games 1

many gold medals
(A) Three
(B) Eight
(C) Four
(D) Two

79. Which of the following is not.the function
of Reserve Bank of India (RBI) ?
(A) Banker to Government
(B) Issue of Bank Notes
(C) Custodian of Cash Reserves of
Commercial Banks

(p)/A Bank Mobilizing Deposits

80. Black cotton soils are also known as
(A) Bhangar
(/BX?egur
(C) Khadar
(D) Bhabar

(18)

preffaoefF@ F0 @iafo S ?
, (A) JKL

(B) TUV

(C) PQS

(D) CDE

76.

77. ﬁﬂ%ﬁ@mwﬁ?ﬂwcﬂﬁﬂ‘"’m
wmeifEe G 21
(A) R
(B) e
(C) oA
(D) S

78. ma«ﬁwmaﬁaﬁﬂ 1984 A
cmasﬁ?’s«fmf@mﬁ‘mﬂ?

70, Sirsa A RErS i (. R iR~
G A2

(A) TR PR IR

(B) TIF @6 T 3 .

(©) arf?ff@msammﬁawmmma@

(D) 4R NI S SRR

80. I o7 MBI S 2o AN 2
(A) ©leg
(B) (%9
(C) M

(D) ©IRq



g2. Which of the following is not a particle?
(A) Beta
(B)
C) Delta
(D) Alpha

g3, Gita Gopinath is the first woman chief
economist to be appointed to which international
organization?
(A) AsianInfrastructure Investment Bank
(B) World Bank
(C) International Monetary Fund
(D) Asian Development Bank

84, ‘Lilavati’ was written by
(A) Hemchandra Acharya
(B) Mahaviracharya
(C) Kalkaacharya

( haskaracharya

85. The sun gets its energy from which of the
following 9

(A) Nuclear Fission
(B) Photoelectric effect
(€) Nuclear Fusion

T I

(19) RBSI(PVI9

n which Rock Edict is
p::‘;,lmdnmhy his usual litlclﬁmﬂ;f;’afg 81. owa femfefrcy BrWAZ A 7 ZAE
(A) Mahasthan ; WWW'W%@ﬂ’
(B) Taxila (A) 224
C) Maski (B) =t
(D) Bahapur (C) 7%
(D) 3272

82. FCrtfrentg s s 29 a7
(A) @51
(B) 1=
(C) c=751
(D) T==1

83, 5o nEA (FW WEE e AEE ma%
671 24 W% 24 Bha A ?
(A) <Pz SRR IRE
B) ==
(C) TwEes I3 o%<=
(D) <= Tag= IS

84. FAR:l FiRE
(A) (a5 SR
(B) =R
(C) T=mmp

85. 4 ApA @ (AF =fE wE" A2
(A) FelFm em
(B) FIGREES 2o
(C) el ==
(D) A e

(D) Chemical Reaction
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86. ‘Athelete’s foot’, is a disease caused by
(A) Fungi
(B) Protozoa
(C) Nematode
(D) Bacteria

87. The velocity of sound in aif (under normal
condition) is
(A) 332 m/sec
(B) 3320 m/sec
(C) 3200 m/sec
(D) 30 m/sec

88. The working of a Rocket is based on the

principle of
(A) Kepler's Law

(B) Pascal’s Law
(C) Newton’s Law
(D) Boyle’s Law

89. Which one of the elements is least likely to
be found in commercial fertilizers 7

(A) Phosphorus
(B) Silicon

(C) Potassium
(D) Nitrogen

90. Which of the following has the highest
density?
(A) Coke
(B) Graphite
(C) Diamond

87. ammmm(wrﬁamﬁm—

A) 332/
B) 3320 f/.
(C) 3200 /.
(D) 30 /.

88. mﬁawmﬁﬁa%ﬁaf“@ﬁzm@
(A) AT T
(B) AFEH &
(ORCZCERC
(D) IEETE G

89, iFET ARSEICS WHEIS P v
PG ACIEA1 AR PN ?

(A) T

(B) Fiferan

(C) =i

(D) FRGITE

90. 5 FAHA TG HABE @R 2
(A) 1%
(B) afwizn
©) =
(D) oA

(D) Charcoal




(21)

91, The Stock Market Index of London Stock
Markel iy referred ns

(A) Brent

(B) Sensex

(C) NIFTY

(D) Footsie (FTSE)

92, A certain industrial loom weaves
0.128 meters of cloth every second, Approximately
how many seconds will it take for the loom to
weave 25 meters of cloth?

(A) 200 \ |
@) 105 O AR Ry
(C) 220 e W

(D) 170 ek

93, Inanelection between two candidates, 75%
of the voters cast their votes, out of which 02% of
the votes were declared invalid. A candidate got
9261 votes which were 75% of the total valid vote.
Find the total number of voters.

(A) 15800
(B 16800
(C) 16700
(D) 15700

94. A sum of money doubles itself in 4 years at
asimple interest. In how many years will itamount
to 8 times of itself ?

(A) 12 years
( m years
(C) 24 years
(D) 8 years

95. A man purchased 35 kg of rice at the rate of
Rs. 9.50 per kg and 30 kg at the rate of Rs. 10.50
per kg. He mixed the two. Approximately, at what
price (in Rs.) per kg should he sell the mixture to
make 35% profit in the transaction ?

(A) 12.50
(B) 13.50
(C) 13

RBSI(P)/19

92, <= $re 77 2% Giws 0.128 fibE e
@M | 25 b F14T Fe $fe T%Ha T CFe

3 amcagf/ VA~
L b g
/\/L/

(C) 220
K‘V’ (D) 170
o
\
93, 7% 21Tfa Tug 9= Lo, 75% SoEal
ST (S5 e, I 5 02% (=16 Si3% @Ee
541 ZafeE | <wE 2412 9261 6 i coirrza a1 (o
a4 e 75% @1 | (G (oo Fit ffa s |

94, Reg AT v 791 07 4 T R |
F© IE O JW-T 8 B TA?
(A) 123e
(B) 28 7=d
(C) 243=A
(D) 83=

95. T IF 9.50 B! FfF WF 35 & o=
@22 10.50 51 & weR 30 &% vt Remes | folR
weera e T e | @R e v o &%
oif S VI (511 e e O BR 8oiF 35%
e TA?

(A) 12.50
(B) 13.50
©) 13

(D) 12

(D) 12

91, 7w A% WHBA HF AEG PHe I
w4 271 27
(A) @D 2
(B) GG {E\M) |
() fomfd Ve
(D) 551 (fberiz)

(A) 15800

(B)- 16800 t 8 X -8

(©) 16700 W/
(D) 15700
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96. The ratio of the length and the breadth of a 96;{%‘;&;& il ozglel 24 ot
rectangular plot is 6:5 respectively, if the breadth 6:5| o7 A Al 7
of the plot is 34 meters less than the length, what ([P 408 BT
is the perimeter of the rectangular plot ? (A) 4 5
(A) 408 meters (B) 81 G
(B) 814 meters (s T
(C) 748 meters (D) 374 faore

(D) 374 meters

i 3 0
97. In an examination it is required to get 40%
of the aggregate marks to pass. A student gets

265 marks and is declared failed by 55 marks. (

X . A T
What is the total marks in the said cxamma%son ]

(A) 750 Oj("/f
.

(B) 550
98. If the new numerator of a fraction 1is
increased by 200% and the denominator of Fhe
fractionisincreased by 150%, the resultant frac(t‘ll?f

is 9 Whatis the original fraction ?
35
(A) 3/14 f G/

(B) 2/15 \
(C) 3/10 1
(D) 3/16

c4

99. If 72 x 96 = 6927, 58 x 87 = 7885, then
79%x86="17

(A) 7689 N
(B) 6897 %
(C) 6978

(D) 8976

100. Coffee : Caffeine :: Tobacco : ?
(49 Nicotine
(B) Tanin
(C) Novocaine
(D) Alexine

Al e G AP TACAE 40%

416 (1557747
G e
gﬂfm@mw@#mﬁilwmmm
797
h (A) 750
(B) 550
(C) 650
(D) 800

98, 7fit (I AT &1 200% 3@ T4 2 4%
= 150%@@@,@1‘@@@?\%:1@@@

%um@‘mwﬁm‘?
3

(A) 3/14
(B) 2/15
(C) 3/10
(D) 3/16

99, M 72 x 96 = 6927, 58 x 87 = 7885, O
79'% 86 =
(A) 7689
(B) 6897
(C) 6978
(D) 8976

100. Coffee : Caffeine :: Tobacco : ?
(A) Nicotine
(B) Tamn
(C) Novocaine

(D) Alexine




